EARAROBREBRT —5 XN—ZXBISH—F

2023598268 (X) 12@PI514H

M > 252088 95%2m0P

\(9&1&1 n ‘I%EH?’JFQ] ~ | & 10000 =

[AE%] 17%:1,000,000  ~ 237&:280,000H  37%&:210,000 3 ~ 43&:140,000 @ 5 & :70,000 F

RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
< . allE 1:45.1 1-1-1-1 | 40.5| - 3 49 | BATEEE (usE)
FYUredRY i 2 56.0
: (=) (B) KXHEms
REIHYSAYE BEIYUFFY] O | s
: -3-3- - 2 (JEE
FXUFPN—k 2 gg%ﬁl% (11415/3 3-3-3-4 | 40.4 2 (4:562) ﬂtgﬂg i)
RIS/ IVIIVR BiI—-YUITIT« pldie]
_ . =i el . _ I1HE# (ome
2F4—URU—1 32 E'E*a A 1.6125).8 2-2-2-2 | 411 1 z:g;) ggzg (timE)
RE—ZV B:9LORU—L RS
=, # o2 | FEE— 1:45.9 4-5-3-4 | 40.9| — | 6 | 462 |MEARHEE (LEE)
=~ . 55.0 (172) ) | TEER—LT 1 TR (#)
R:ZvF—7A) B:X—JTUvIR 799577 =LA
e . 43— - JI15R dse
555 | ARAVI ST 2 g’_‘gaé 1(.14/62.)0 5-4-3-2 | 41.0 4 (ztfg %ﬁlgg (ima)
R:JOUFPR/7 B:IRAH N E8UE
N EBE" : -6-6- - LLUEBfIR (dbEE
611111 RU—LFpyF * 2 | oR® 1(.34/62.)1 6-6-6-4 | 40.8 5 (4_360) (E)*D_Fﬁ}jﬂgg)
RiTSVIIAR BiAYR—NTLVAR TR
@ 11— —BRIEfL
13—7F— 2,4,6,3,5,1
20—F— 2,4,6,5,3,1
BEIES /S 2,4,(3,5,6) ,1
40—7F— 2,(4,5),(1,3,6)
0 ILRE
BB 2 370 JA R 2-6 1809 B E 2-6 400 3ER 2-4-6 270/
B B 2 190 2-4 1604 o= 2-6 710 3Es 2-6-4 2,500
6 2004 4-6 1304

ABIC OV TRUTEREERRODDZE. THRIIZEL.




